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e Bl 0.6452 0 0.658 0.0571
o g OIE AXHFA-THY S =
T EIKOSPI200 A H AT 4 -THEH] C/S = SRR 0 05303 00557
1) £ 5H|-8H|E(Total Expense Ratio)0| 2t 28 § HEO|A REtSHE 'E401 7|EHH| &' ZHS Xt AEHTA(ESH|E KLH 7|F)22 L HEZM siE 2872t F &

XEREZ

HCFSE 22 HA AXO
Tgﬁ" S E‘l"Hl‘g"l‘T'__E

LEFELICH

ZF2) Ojof- 372 H|E0|2 OjOf- S ++=2E =X Y g4
F3) EXtEe F@ RHEOM 2 dot HIES RMHEETL XX|3HE HIEUZ 22 3to]

4>

K YL

Lhe HIE22M 8iY 2872




7. SXFXHAHOH O] L

HojFA 2 U 3|HE 5ot £|2 37| tjoj| e 30| & %— i =7 9 £[2 387 Setofl thell HEZL 383 FA 72| Rz & &l ¥ = JEL|Ct tjojEH g0 =2 HS 0}
“H7'|EHT-|-E(0.1%'-H2|) U SHAHIM(OHEA] 0.25%) HHo = MH| EXIXI7 £EtSHA £l HEQ| H|E0| F7tEL Ct
> DHOHFA A2 & 2| HE (EF2I2BHRl, 9%)
S E2IKOSPI200Q! A B [FAL-THA ]
LES o= LR
T | =9 = [ =29 NZ71ZF [ [SESR;
47,975 | 1,960 15,356 | 458 8.94 | 36.27
F) ol 287|7 F =t FAJto| ZHS T STt 287 T ERY FAO BRIIHSR Lhe H|ES LIEFLLCE
> X2 327 =4 ojofjs|HE 0] (EH2: %)
R EIKOSPI200Q! A B [ Al TIH &)
2019-08-28 ~ 2019-11-27 2019-11-28 ~ 2020-02-27 2020-02-28 ~ 2020-05-27
20.62 17.22 8.94

*3IHE HaE AR HIX[OF3(KOSPI200%] ) Z7[H 8 Faf R 27 /2H, 22y SO Z4= mioj7F 20f 2 H 0] stestAS L.




